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fa: Fusi: ATLUL:
X+ 10x* +33x+36=0 X =7 +6x=0

43 — 152 — 151x+ 120 = 0 73+ 13x° — 10x— 16 = 0

X =107 +21x =0 8> + x> —38x+21 =0

4197+ 112x+ 192 = 0 8% — 105x> + 364x— 288 = 0

502 +21F 16 =0 X =3¢ +2%=0
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fa:

X+ 10x° +33x+36 =0
x=-3,—4,-3

4> —15x% —151x+ 120 =0
3

-, 8,-5
4

x:

X =107 +21x =0
x=7.3,0

X + 197 + 112x+ 192 = 0
x=-3,-8,—8

52 4+21F% —16=0

4
=, —4,-1
5

x:

Jun:

X -—T¢ +6x=0
x=6,1,0

7Y+ 132 —10x—16=0
8
=, -2,—1
7

x:

8> + 9x? —38x+21 =0
7

x=-,1,-3
8

8x° — 105x* + 364x— 288 = 0
9
> 834
8

x:

X =3¢ +2x=0
x=2.1,0
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